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E—REE (1-1~1-4)
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1. (D) 2. (C) 3. (B) 4. (A) 5. (B) 6. (C) 7. (B) 8. (B) 9. (D) 10. (A)
— - JEEEE
1.-36 2.201304000 3.-12 4.-4 5.3 6.11 7.-567000
8.50 9.-4 10.0

PEAVE IR
1.904r 2.18 3.524% 4.15

B REEE (1-5~2-3)
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1. (D) 2. (D) 3. (C) 4. (D) 5.(C) 6. (C) 7. (A) 8. (A) 9. (C) 10. (A)

— - JEEEEE

1. (1) 70 (2) 420 2.8 3.3.2x10° 4.9 5.72 6. —2% 7.7
8

8. 24— 9.4
27

TEPAE JIRE
1.2%3'%7%11% 2.44 3. (1) 1x10"2 (2) 1.6x10 4.15 =

B=RERE (2-4~3-3)
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1. (D) 2. (B) 3. (B) 4. (C) 5. (B) 6. (A) 7. (D) 8. (C) 9. (B) 10. (D)
=~ JEEEE

1. 12x+23 2. % 3. 4> a. -% 5.5 6.-2 7.5 8.115

4
9. 24 10. 980
31

TERVE S -
1.a=2 2.(1) XT_1 (2) x=1




